Mi. Antony purchased 3 hooks worth R&, a 10

(1100100).. At last he returned a hook worlh RG'
(11001).. S0 how much amount ho has to pay o
the remaining two books in decimal numbor 5ys-
tem. )
Qu®  epadem 3 book . (1100100), m),n-lrm"’
Qlosmdlad). @dalrvome (11001), alriop@a 63o) Book
D) HGOSIOM), @psIEMenoes, decimal num-
bers system-@d aglen ool anEgano 6d05)H6O6TNO.

01 01

He has to pay 1100100 -
11001
1001011

then convert (1001011), into decimal
(1001011), =1 X204+ 0 x 26+ 0 x 2++1x2°
+0 x 2%+1 x 21+1x2°
=64+0+0+8+0-+2+1
: | = (75),, |
So he has to pay Rs. 75/-

Qn. 20 _

Mr. Leones brought two products from a super mar-
ket at a total of Rs. (11010010), and he got a dicount
of Rs. (1111), So how much he has to pay for this
products in decimal number system.
2lqud efleoamBay oemE avowmeasud (11010010),
‘©)aloe Be) super market @@ mamyo o6eERE1a). @RI
(1111), ®yau discount #1351 ageled decimal number,
AVIQUAHITE )@ @)ad @ROIMB 6)eBIS$)BOEMO.

m Substract (1111), from (11010010),

0110
1101 0010 -

1111

11000011
then convert (11000011), into decimal
- (11000011), = 1x27+1x25+0x25+0x2*
+0x2°+022+1x2'+1x2°
© = 128+64+0+0+0+0+2+1
=(195),




Qn. 21
A textile showroom sells shirts with a discount of

Rs. (110010), on all barads. Mr. Raju wants to by,
a shirt worth Rs. (11111000),. So after discount hoy,
much amount he has to pay in decimal.
&) Textile show room ofglo Brand shirt &3ae,
(110010), @) discount e&0S)#ee)(M). IR Ny
(11111000), aNei)88 6o} @S U068 Be6mM
apaRemews1ed #wla] @¢laf decimal numbey
system @®l@d agll® @)al 6)HH0S) HEETNO.
Xy Substract (110010), from (11 111 000),
- 01
11111000 - -
110010

11000110

then convert (11000110), into decimal
(11000110), = 1x27+1x26+0x2%+0x2"+0x2°
+1x22+1x2'+0x2° o
= 128+64+0+0+0+4+2+0
=(198),, o
Qn. 22 B | -
Mr. Lijo purchased-a product worth Rs. (1110011),
and he has to pay VAT @ Rs. (1100),.. Then calcu- |-
late the total amount he has to pay in decimal.
Mr. Lijo (1110011), ojal Qlei@)gs 6) quowmo
cuoserlay). @p@@lal (1100), oyal VAT aaaaosgaa_s)smo,
ag@sled decimal number system owl@d ag® ©)al
1HOS)BH6INO. | ' '
Y@ Add (1110011), and (1100), |

1110011 +
1100

1111111 |
then convert (1111111), into decimal
A111111), = 1x25+1x25+1X2%+1x2%+1x 22
+1x2'+1x2°
64+32+16+8+4+2+1
(127).,

I




